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* Assume that the lollowing data relative to Pearson Company for 2007 is available:

Income for the year 2007:

Net Income Before Extraordinary Items $234,000
Extraordinary Income (net of 40% income tax) 10,000
Net Income $244,000

Capital Structure:

$10 par common stock, outstanding on January | 90,000 Shares

May 1, Issuance of shares 6,000 Shares

July 1, 20% of stock dividends declaration 19,200 Shares

Oct 1, Purchase of treasury shares 3,000 Shares
Preferred Stock

Cat. A: 6% Cumulative non-convertible, $20 par, outstanding on January | 25,000 Shares

Cat. B: 7% Cumulalive convertible, $10 par, | share preferred stock is convertible 10,000 Shares

into 3 shares of comimon stock
Stock Option
Exercisable at the option price of $20 per share. Average market price in 2007, $25. 20,000 Units
Qutstanding throughout the year, '

Convertible Bonds

Cat. A: Convertible 8% bonds. I[ssued at par, and each of the $1,000 bonds is $200,000
convertible into 30 shares of common stock. Qutstanding throughout the year.
Cat. B: Convertible 10% bonds. Issued at par on July 1, 2001. Each of the $1,000 $500,000

bonds is convertible into 50 shares of conumon stock
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Required:

L. Identify whether the capital structure at Pearson Company is a simple or complex capital structure, and explain

why. (5%)

2. Determine the weighted-average number of shares that P

per share. (5%)

3. Compute the basic earnings per share for 2007, (4] 4 £ /| #¢ % =10 (5%)

4. Compute the diluted earnings per share for

2007 (3 B2 HE —n) (5%)

4~ The following balance sheet was prepated by the bookkeeper for Perry Company as of December 31, 2007.

Cash $ 80,000
Accounts receivable (net) 52,200
Inventories 57,000
Investments 76,300
Equipment (net) 96,000
Patents 32,000

The following additional information is provided:

Perry Company
Balance Sheet
December 31, 2007

Accounts payable
Long-term liabilities

Stockholders' equity

$ 75,000
100,000
218,500

earson Company would use in calculaling basic earnings

I Cash includes the cash surrender value of a life insurance policy $9,400, and the investment in trading stock $2,500,

which is intended to sell within 2 mon(hs.

2. The net accounts receivable balance includes:

(a) accounts receivable-—debit balances $60,000;

(b) accounts payable -—credit balances $4,000;

{c) allowance for doubthul accounts $3,800.

3. Inventories do not include goods costing $3,000 shipped out on consignment. Receivables of $3,000 were recorded

on these goods.

4. lInvestments include investments in common stock, trading $19,000 and available-for-sale $48,300, and franchises

$9,000.

5. Equipment includes: buildings $34,000 less accumulated depreciation $13,600, Machinery $25,000 less

accumulated depreciation $8,000, and land being held for speculation $58,600.

6. Stockholders’ equity has: preferred stock, no par value, authorized 100,000 shares, issued 20,000 shares for

$50,000, and common stock, $1.00 par value, authorized 200,000 shares, issued 50,000 shares at an average price

of $3.00. In addition, the corporation has retained carnings of $18,500.

Required:

Prepare a balance sheet in good form, adjusting the amounts in each balance sheet classilication as affected by the

information given above. (20%)




